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Match #20


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
It consists of 15,693 lines of dactylic hexameter, and was contained in 24 scrolls. It was first translated into English by George Chapman. Two hundred lines are dedicated to describing a shield. Early on, the gods Aphrodite (ah-froh-die-tee) and Ares (ay-reez) are wounded. Midway through, Hera seduces Zeus in order to make the fighting more even. The deaths of Patroclus and Hector are the highlights of what classic work by Homer?

ANSWER: The Iliad
2.
The Houston Grand Opera’s 1976 production of this opera was one of the few operas to win a Tony award. After its release, Duke Ellington said, “the times are here to debunk (the composer’s) lampblack Negroisms.” It includes the characters Robbins, Serena, Crown, and Sportin’ Life, and is set in Catfish Row. Songs like “Summertime” appear in what opera by George Gershwin? 

ANSWER: Porgy and Bess
3.
It was discovered in the decay of the neutral kaon in 1964. James Cronin and Val Fitch won the 1980 Nobel Prize in Physics for its discovery.  It explains why the Universe has more matter than antimatter.  Name this term for the breaking of symmetry involving charge and parity conjugation, as its initials might attest? 

ANSWER: CP violation or charge-parity violation (prompt on ‘CP’)

4.
The xiphos (hee-fohs) variety of this weapon was replaced by the spatha type during the later Iron Age. The cross guard, meant to protect the bearer’s hand, was invented by the Normans. In the Renaissance, the ‘tuck’ variety was used to thrust through armor, and the two-handed claymore was used by Scottish Highlanders until the 18th century. What is this weapon that consists of a pommel, a hilt, and a blade? 

ANSWER: sword(s)

5.
Risk factors for it include having diabetes, being black or Inuit, and raised intraocular pressure.  Treatments for it include laser surgery, canaloplasty, and medications such as Propine, Azopt, Alphagan, and Lumigan.  Name this eye disease in which the optic nerve loses retinal ganglion cells and can progress to blindness.

ANSWER: glaucoma
6.
This county’s 2.2 million people include a million immigrants who speak 170 languages, making it the most diverse county in the nation. Landmarks here include the Noguchi Museum, the Citicorp Building, and Aqueduct Racetrack. Neighborhoods here include Ozone Park, Oyster Bay, the Rockaways, Jamaica, and Flushing. What second-most populous borough of New York City is located to the east of Brooklyn? 

ANSWER: Queens County, New York

7.
This band has won two Grammy awards; one for a collaboration with Shawn Carter, the other for Best Hard Rock Performance for a single off their first album.  They also have three number one albums, the most recent being 2007's Minutes to Midnight, with the single ‘What I've Done.’ What rap metal band made the albums Hybrid Theory and Meteora, and is named in homage for a locale in Santa Monica, California?

ANSWER: Linkin Park
8.
It uses two heap operations: root deletion and insertion. Its worst-case run time in ‘Big O’ notation is n times log the log of n, where n is the number of elements. It is an application of an in-place algorithm, but is not stable. Name this type of sort that works by recording the array to make the title structure, then removes the largest or smallest element in each structure and moves it to the new sorted array.

ANSWER: Heapsort (accept smooth sort)
9.
Recurring characters included Evan Drake, Harry the Hat, Robin Colcord, and Eddie LeBec. Characters that left the show during its run included “Coach” Pantusso and Diane Chambers. Employees included Rebecca Howe, Carla Tortelli, Woody Boyd, and Sam Malone, and regular customers included Norm Peterson, Frazier Crane, and Cliff Clavin. What 1980s NBC sitcom was set in a bar in Boston? 

ANSWER: Cheers
10.
This language combined with Hebrew to form the now-extinct Yevanic language. In 1982, spelling changes eliminated a number of accent marks. Koine (koh-ee-nay) and Attic are among its ancient varieties, and in the 9th century BC it became the first language to use vowels in its alphabet. What language, in which the New Testament is written, is heard in cities such as Athens? 

ANSWER: Greek
11.
Abnormal ones are responsible for problems such as nasal regurgitation, velopharyngeal (vee-loh-fuh-rin-jee-ul) insufficiency, and sleep apnea.  Although it is not used to pronounce consonants in English, it is used in African languages for producing click consonants.  Name this mucus-covered set of muscles hanging down from the back of the soft palate in the throat.

ANSWER: uvula
12.
This work’s prologue outlines the ideas of the older generation, middle generation, and the sophists. In it, through a series of dialogues, justice is ruled better than injustice. The analogy of the divided line, the allegory of the cave, idea of the good, and rule by philosopher-kings are concepts contained in what work by Plato in which the ideal government is discussed? 

ANSWER: The Republic
13.
THIS IS A COMPUTATION QUESTION. How many bases is 16 home runs, 3 triples, 28 doubles, and 45 singles, given that 16 times 4 is 64, 3 times 3 is 9, 28 times 2 is 56, and 45 times 1 is 45?

ANSWER: 174 bases

14.
It is a small metal design that shows a military medal has been awarded twice or more. It can also be a group of two or more consonants pronounced together. It is a type of headache described by Bayard Horton where the pain is much worse than a migraine. It means to closely gather around something. What word also describes a group of things growing together, such as grapes?

ANSWER: cluster
15.
The first victims of these were the Earls of Winchester and Gloucester. If one was passed against you, you could no longer own property or pass your titles to your heirs; as such they were a quick way for a King to quickly get rid of opponents. They are forbidden by Article I, Section 9, Clause 3 of the Constitution along with ex post facto laws. What legislative act declares someone guilty of a crime without benefit of trial? 

ANSWER: bill of attainder
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Hayden Panettiere has gained fame as Claire Bennet, a cheerleader from Odessa, Texas, in what NBC sci-fi series?

ANSWER: Heroes
1B.
Hurricanes Camille and Andrew were rated as a 5 on what scale used to rate tropical cyclones that form in the Atlantic and Northeast Pacific Oceans?

ANSWER: Saffir-Simpson Scale

2A.
THIS IS A COMPUTATION QUESTION. Convert 56/72 into a fraction of lowest terms.

ANSWER: 7/9

2B.
The sticks placed atop a wicket in cricket have the same name as what word referring to security paid to ensure someone’s appearance at trial?

ANSWER: bail
3A.
What largest city in Bohemia is also the capital of the Czech Republic?


ANSWER: Prague, Czech Republic

3B.
THIS IS A COMPUTATION QUESTION. What is the median of 19, 83, 34, 71, 11, 29, and 52?

ANSWER: 34
4A.
Who received Soviet approval for writing One Day in the Life of Ivan Denisovich, but did not receive approval for The Gulag Archipelago? 

ANSWER: Alexander Solzhenitsyn
4B.
What act nullified the Missouri Compromise and introduced the idea of popular sovereignty in the two states for which the act is named? 

ANSWER: Kansas-Nebraska Act

5A.
What fight or flight hormone is also known as epinephrine (eh-pih-neh-frin)

ANSWER: adrenaline
5B.
Fort AP Hill in Caroline County is the home of what event, last held in 2005, which is sponsored by the Boy Scouts of America?

ANSWER: Boy Scout Jamboree
6A.
What is the gerund form of the verb, “to leak”?

ANSWER: leaking
6B.
In the 1950s, around 40% of people lived in one, but today only 25% of people live in what arrangement centered around two parents and their biological children? 

ANSWER: nuclear family
7A.
What country underwent the Meiji Restoration in 1868?

ANSWER: Japan 

7B.
He was born with his twin brother Xototl (shoh-taw-tul) in a virgin birth to Coatlicue (koh-ah-tlih-kway). Who is this ‘feathered serpent’ Aztec god?

ANSWER: Quetzalcoatl (kay-tsal-koh-ah-tul)

8A.
Jewish tradition holds that the Torah contains what three-digit number of commandments, or mitzvot (meets-voht)?

ANSWER: 613 

8B.
Who devised a machine to force air through molten iron to remove impurities, and thus cheaply produce large amounts of steel?

ANSWER: Henry Bessemer
9A.
THIS IS A COMPUTATION QUESTION. What is the vertical asymptote of y equals x over the quantity x plus 5?

ANSWER: x equals -5
9B.
THIS IS A COMPUTATION QUESTION. What is the measure of the fourth angle of a quadrilateral whose other three angles are 70 degrees, 80 degrees, and 93 degrees?

ANSWER: 117 degrees
10A.
By definition, an amalgam alloy contains what element?

ANSWER: mercury
10B.
What ‘Master of Alternate History’ wrote the Worldwar and Confederate Victory series, and also wrote the Videssos series and the novel Guns of the South?
ANSWER: Harry Turtledove
Third period, 15 toss-ups, 10 points each

1.
In this book, the Seven Commandments are constantly broken. Reactionary forces led by Mr. Jones and Mr. Frederick are beaten at the Battle of the Cowshed and the Battle of the Windmill. Most characters have their direct analogue to figures in Soviet history. What book by George Orwell features a power struggle between the pigs Snowball and Napoleon? 

ANSWER: Animal Farm
2.
The password JUSTIN BAILEY enabled you to see this game’s main character wearing a leotard instead of her usual armored suit. The title objects had to be frozen and then hit with five missiles to be killed. The armored suit helped her traverse the regions of Brinstar, Norfair, and Tourian and do battle with creatures such as Ridley and Craid. In what classic NES (spell it out) video game must Samus Aran destroy the Mother Brain? 

ANSWER: Metroid (do NOT accept anything other than “Metroid” except maybe “the first Metroid” or “the original Metroid.”)

3.
Named after a nineteenth-century Swiss-born Russian chemist, it depends only on initial and final states.  Name this law of constant heat summation that states that the change in enthalpy of a reaction is the same regardless of what path is used to obtain the products.

ANSWER: Hess’s law

4.
Jesse Hawley conceived the plan to build it while in debtor’s prison. Thomas Jefferson rejected it as ‘a little short of madness.’ The Montezuma Swamp halted construction for several months. An eastern extension to Lake Champlain opened in 1823, and it took another couple years to blast through the Niagara Escarpment. DeWitt Clinton poured Great Lakes water into New York Harbor to open what canal? 

ANSWER: Erie Canal

5.
He was given the title Marques (mar-kays) del Valle de Oaxaca (wah-hah-kah) in 1528. He once climbed on Charles V’s carriage and said he had ‘given you more provinces than your ancestors left you cities.’ He discovered that Baja California was a peninsula, and was the original namesake for the Gulf of California. Who used La Malinche (mah-leen-chay) as his translator while conquering the Aztecs? 

ANSWER: Hernan(do) Cortes
6.
This fictional Indian was once a chief, but his tribe exiled him for drinking firewater. In a climactic scene, he asks his prisoner to choose ‘the wigwam or the knife of Le Subtil.’ (soo-teel) He assisted the Marquis de Montcalm in his attack on Fort William Henry. What Huron Indian kidnapped Cora, but was shot by Hawkeye in The Last of the Mohicans? 

ANSWER: Magua
7.
Early explorers of this country include Matthew Flinders and George Bass. Zheng He may have explored its western coast, and a 1503 European map refers to it as ‘Fire Land’ and ‘Land of Parrots’ in Chinese characters. Many historians hold that its European discoverer was the Dutchman Willem Janszoon, hence its original name New Holland. What country was given a name in 1824 that reflected its position in the south?

ANSWER: Australia
8.
During World War II, many members of this organization lent their expertise to the Army's 10th Mountain Division.  Ansel Adams spent many years as part of this organization, and organized and photographed many of the club's annual High Trips into Yosemite National Park.  What is this environmental protection group founded by John Muir and named after a mountain range in the western US?

ANSWER: Sierra Club
9.
The first of this art movement’s eight exhibitions occurred at the studio of the photographer Nadar. One critic described its work as sketches and not finished work. Artists who exhibited included Berthe (bairt) Morisot (moh-ree-soh), Edgar Degas, and Paul Cézanne, but the only artist who participated in all eight was Camille Pissarro. What art movement got its name from a sunrise painting by Claude Monet (moh-nay)? 

ANSWER: Impressionism (or Impressionist)

10.
Gelfond’s theorem helps determine if a number is of this type or not.  They are all irrational, but not all irrationals are this type of number.  Examples of them include e, pi times e to the pi power, and Liouville numbers.  Name this type of number that is not algebraic and shares its name with the philosophy of Thoreau and Emerson.

ANSWER: transcendental
11.
A drifter shows up at a California diner, and soon begins a passionate affair with the diner’s manager, who is married to a much older man. The first plot to kill the husband only gives him amnesia. The second plot succeeds, but a car accident kills Cora, ending her plan for a life with Frank. What novel by James Cain is notable for the non-appearance of a letter carrier, much less one who makes the doorbell chime? 

ANSWER: The Postman Always Rings Twice
12.
Roscoe Hillenkoetter was the first director of this organization, whose creation was opposed by the State and War Departments. In 1974, its ‘Family Jewels’ were discovered, and the Church and Pike Commissions curtailed some of its powers. Its heads have included Stansfield Turner, William Casey, John Deutch, George Tenet, and Porter Goss. What organization has its headquarters in Langley, Virginia? 

ANSWER: Central Intelligence Agency or CIA
13.
Its functions include maintaining acidic internal pH, isolating harmful materials, and maintaining turgor pressure.  It is much larger in plant cells than in animal cells.  Name this membrane-bound cell organelle that exports unwanted substances from the cell, contains waste products, and sometimes merges with lysosomes.


ANSWER: vacuole
14.
At the battle of Gibeah, this tribe was nearly wiped out. Its ancestor is referred to as a ‘ravenous wolf’ in the Blessing of Jacob, and its members learned how to fight left-handed, making the Israelite army the more dangerous. It was the junior partner to the tribe of Judah after Israel split into two. What tribe is named for the son Rachel gave birth to before dying? 

ANSWER: Benjamin

15.
This fictional character is buried in the King’s Chapel graveyard, although at a discreet distance from his lover. After giving his Election Day sermon, he tears open his shirt and confesses his great sin. Some witnesses said they saw some sort of mark on his chest, akin to the one his lover wore on the outside. What minister escapes Chillingworth and confesses his sin with Hester Prynne at the end of The Scarlet Letter? 

ANSWER: Arthur Dimmesdale (accept either)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This company got its current name in 1919 when it started service in Oakland; twelve years earlier, Jim Casey and Claude Ryan founded it in Seattle. Remarkably, it did not start service in all the lower 48 states until 1975. It bought Overnite Express in 2005, and remains in competition with DHL. What corporation is familiar for its trademarked shade of the color brown? 

ANSWER: United Parcel Service or UPS
2.
THIS IS A COMPUTATION QUESTION. In degrees, what is the sum of the interior angles of a 20-sided polygon, given that the answer is found using the formula 180 times the quantity n – 2, where n is the number of sides?

ANSWER: 3240 degrees

3.
It is named after an Irish scientist and is often confused with Rayleigh scattering.  Since it affects shorter wavelengths of light more than longer wavelengths, it explains why the sky looks blue.  Name this effect in which particles in colloids such as suspensions or emulsions cause light to scatter.

ANSWER: Tyndall effect

4.
As a scout with the 106th Infantry, he was captured by German troops in 1944, and spent the rest of the war in a meat locker in Dresden.  He received a master’s degree from Chicago for his novel about the fictional substance ice-nine, Cat’s Cradle.  Who is this author who passed in 2007, best-known for a novel about a Pilgrim that becomes ‘unstuck in time,’ Slaughterhouse-Five? 

ANSWER: Kurt Vonnegut
5.
Harold Bloom said this play’s ideal producer would be Mel Brooks. It was inspired by the Roman tragedies of Seneca the Younger, and may have offended Victorian-era sensibilities due to violent scenes including the rape and mutilation of Lavinia, and Queen Tamora of the Goths eating her two sons in a pie. What is this most lamentable and most bloody tragedy by William Shakespeare? 

ANSWER: The Most Lamentable Roman Tragedy of Titus Andronicus
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